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3541 X<

The correct relation between the two current

. . S 5
The magnifying power of an astronomical | 3
telescopgnils 10 and focal length of its eye gains oo and B ina transistor is
piece is 20 cm. The focal length of its i A g EN o 9 B H 9 &
~objective will be: ey &
(A) 200 cm (B) 2 cm B
(C) 0.5 cm (D) 50 cm (A) 0L=1—_E
T @iehg gEdl @ eraHe &mar 10 ® i
SE% AfEEd o9 B Bed g 20 ¥ B SES ®) oc=]+B
sfTgyas &9 # Bida g Erl: B
(A) 200 (B) 2 ¥ G B2
(C) 0.5 & (D) 50 & I+o
o
The electric flux from a cube of side ‘a’ is D) ‘3_ =
¢. What will be its value if the side of cube | ¢ Tpe motion of planets in solar system is an
is made ‘24’ and the charge enclosed is made example of coservation of:
half? (A) Energy
Taea st =@ (B) Linear momentum
g I Zi:(ﬁm (C) Angular momentum
I 41 BT Al 5 @l S Bl A (D) Mass
T o uREE SEY H e HY e W ? B dew ¥ UG & AR Read wRE B TH
o ¢ IAETT T 7
; (B) €@ gaT
©) 80 D) 2¢ e
: (D) z=aH
The force between two charges is 200 P 1Y e
i between the c! es closed organ pipe an
Ne(\;vt O&g{{ tgfe:ﬁingrc: Wieﬁnbe eq:;r%o are tuned to the same fundamental frequency
laf( a:;sﬁ ¥ 9= &9 @ °9E 200 <A ¥ AR The ratio of their lengthsésﬁ m‘r .
) 5 P T% 9% SAT0E URY 9 Uh ST 918y
STl % & @i gl Bl AT ST fear =g Al 9w = e e P e b
% T - aﬂEI i 3%315 LRl
(A) 400 N (B) 100 N (A) j] 1 B) 2:1
© 150N (D) 50N (C) 1:4 (D) 1:2
L : - 8 At what speed should a source of sound move
Thfl: gIety tshown - olloymg figapayens so that an observer finds the apparen}
BB B c . frequency equal to half of the origina
P o % vl fow o6 2w @ wit @ AT
wT &2 st 2 i B e iRy @ e e forad e
UeAdh %1 AT ATGrd Ui gha al Smel o
FHE g 77
o (A) v/2 B) 2v
©) v/4 D) v
here v is the velocity of sound.
(A) NOR (B) NAND Wik
(C) OR (D) AND el v @At & am ) |
Page 2 of 16 [ Contd,...

9

10

- (©) @ Hrex

12

354 ]

If the amplitudes of two waves at any place
are in the ratio 1:2, then the ratio of maximum
and minimum intensities from the
superposition principle will be

afg fRd @ 9T A T F S # Srur 1:2
B el et & -ofrman qan =gEaw
rsramett &1 ST BRm:

(A) 9:1 B) 2:1

© 3:1 (D) 3:2

SI unit of moment of force is

(A) Newton metre (B) Newton /metre
(C) Joule metre (D) Joule/metre
T el @1 SI A= §: _

(A) Fgr AT (B) /WX

(D) S/ HreX

The moment of inertia of a uniform circular
disc of radius ‘R’ and mass ‘M’ about an
axis passing from the edge of the disc and
perpendicular to the disc is

‘R’ BeEn 9 M FEEE @ Uh §9EY Jae |-

o &1 38® A & oI 9l 8T se% aw
& W A b URd: e ol &

(&) 5MR? ®) MR?
©) %MR2 @) 2Mmr?

If ¥, A and X are velocity, acceleration and
displacement respectively of a particle

executing simple harmonic motion, then at -

mean position

(A) 4 is maximum and X and V are zero.
(B) ¥ is maximum and X and 4 are zero.
(C) Vand 4 are maximum and X is zero.

(D) X and 4 are maximum and ¥ is zero.

IV, A 3T X wuer: el axa smed iy &
AT HIT b A, @O e €, df "rer Rafy
T

(A) A srfysaw ok X a V 4 &l
(B) V aftrehem ST X @ 4 909 #1
(C) V 3T A sifyesaw ok X 94 &
(D) X 8T A siftreras ofiT V9 &

13

14

15
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A simple harmonic oscillator has an
amplitude 4 and time period 7. The time

required by it to travel from x= A4 to x=%
is .

Th GE @l 2 b AAH A G e He
TE x=4 9 x=— mmmﬁ%fmﬁﬁ;
o mmmt

A) (B)

©

W[ O\l"]
ST

D)

A harmonic motion is represented by equation

x=0-1sin(200r+0-1). The frequency of
oscillation is equal to

(A) 200H B) OlH
© T © 2w

@mmﬁwmamﬁﬁm%z
x=0-15in (2001 +0-1) | A & IR :

@ Xem @ L
© L 0 2w

According to Bohr atomic model of Hydrogen
atom, relationship between principal quantum
number ‘7z’ and radius of orbit ‘7’ is given by
ST Y 3 A TR i 5 T
TEA FE(H HEAT (n) 9 & I B 7 & ga

~

&) e ®) ren?
© re=g & @) ren

[ Contd...
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16 The condition for longest wavelength in

17

18

19

Balmer series of Hydrogen atom is:
ETZSIS TTATY B qET AN H FEQ wS qoesd
& forg wfge (srd) &

(A) n,=

B) n;
©) n; ne=2
D) n;=5,n=4

If the electron in first orbit of Hydrogen atom

absorbs 12.1 eV of energy, it will jump to
orbit.

(A) second (B) third

(C) fourth (D) fifth

it TESET T b VA9 HE F Rud seemi

12.1 eV =i s@eifyq &xar &, & 9%
HE § SN & S E

(A) T ®) d

(C) @& (D) urEE

In the following circuit if deflection in the
galvanometer is zero, then the value of
resistance (R) will be
= aftwe ¥ aft Aeier & fadw 5= & &
wfeRrg (R) &l 7 €0

2Q 4Q
3Q R

(A) 8Q
© 4Q

(B) 6Q
D) 20

The value of current (/) in given circuit is

few Mo ufty & arr (7) @ 9 ¢

B) 144
(D) 84

20 Which-phenomenon confirms that light waves

21

22

23

- Page 4 of 16

are transverse ?

(A) Reflection (B) Interference

(C) glarization (D) Diffraction
B AT Y1yl TN & SR B @ gite
aﬂ‘chg"
(A) g@a‘cf'-t (B) =fqaTr -
(©) g (D) fads

In Young's double slit experiment, if the
distance between slits is halved and the
distance between the plane of slits and screen
is doubled, the fringe width will become
(A) Balf (B) double

(C) our times (D) - eight times ,
a7 Ffr-fee wam & aft R & 9= @ gl
el
B &Y A W, @ B e 2 sat-
(A) e ®)

(©) S TR (D) o T

The mass defect (Am) and binding energy
(B.E@a: :
geoary (Am) 9 duq et (B.E.) &
o

A) 3.13.: Ame

B) 3 E.= Amc?

©) i _AT”’

e related as

M)SBEEAT
o c?
=

O

Which-of the following is used as a moderator

in a fuclear reactor?

(A) €admium (B) Plutonium
©) ganium (D) Heavy water |
ey et & feg & 4 @ |1 oraves @
e Fga BT 7
(A) Hefmag (B) =ity
(©) Fifwam (D) W W«

[ Contd...
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Second postulate of Bohr's model can be | 27 Which statement about 'Gauss's law' is not
explained on the basis of whjc&theory? true? :
(A) Angular momentum conseryation theory (A) Depends on total enclosed charge.
(B) Matter wave theory (Xo) (B) Depends on quantity and nature of
(C) Liquid-drop model theoryl™ enclosed charge.
(D) Einstein-Planck theory (C) Depends on medium.
I & T aftmifya @ = ﬁ? ¥ ¥ fom (D) Depends on dynamic or steady state.
fogia & & & ST EEH 27 O ey fEm ¥ gt S 91 BUT 9 T ¢ 7
(A)WWW%@?N (A) Po UitEs @y 9 T FEEr 3
B) w== a1 s (B)uﬁaaanawaﬁqﬁrqawﬁrwﬁﬁ't
(C) Fa—4z drsd &= HIT $
(D) EEH-<% HEi ©) Wwﬁﬁrm%l
: ' \ (D) iasfiierar ar Rax s WX T & 1
The efficiency of Carnot en@le depends :
upon-_ \© 28 In forward bias, the width of depletion layer
(A) Working substance = in p-n junction diode
(B) Design of engine © (A) decreases with increase in voltage
(C) Length of the stroke of e (B) increases with increase in voltage
(D) Temperature of source sink (C) is independent of voltage
- BT 9 B @A T DI By (D) decreases only after breakdown voltage
(A) BrEH & uT v is reached
(B) I & fEwiEA WX faRs a@g ¥ p-n @i sEE ¥ R &=
(C) T % B & s W (depletion layer) @1 HieTs
(D) & a R & Y T (A) drear ¥ g @y g ¥
; - N (B) drwear ® gfa & @ g ¥
According to Kelvin Planck's statement of (C) darear X ffX = @t :
second law of thermodynamics?\whjch of the (D) ¥ad e deedl 9% YEEd b IUT
following statements is correct=9 e 3
(A) Heat from a cold resef¥oir can be
te;ig:izlns\ir? ot rese‘ iiatct 29 Charges 40, q and Q are placed along x-axis
(B) Efficiency for a reversible engine is at positions x=0, x':ﬁ and x=/¢
equal to 1. 2
(C). Heat from a hot reservoir can be respectively. The yalu'e of ‘g’ so that force
completely converted into work. on charge Q is zero, is >
D) Eﬂ‘icgn%:fg;i ggme is le.ss,;h:: ; 40, g O ST x T T HFAT: x=0, x= _g_
STIER B 7§ @ we weh i x=¢ fagell o Rua ¥l ‘> &1 °a® W
(A) 3 T 9UER | ST THIGHT WS F e R AT O WX BT AW A T, E-
T o *d % Wk & e E1 | WA 0
(B) SchHUIT 3919 @l <& 1 %, Bl &l A) O (B)'-—2—
(©) ﬁww%wmﬁqﬁaﬁa : kT
B gl &1 N (C)'/—g (o ®) -0
(D) ST 359 @1 <Ear 1§ & o B . 2
Page 5 of 16 [ Contd...




30 If the temperature of source is increased, then
efficiency of Carnot engine:
(A) increases
(B) decreases
. (C) remains unchanged
(D) becomes negligible
Tt |G &1 TOEE g1 @1 911, & FE; S a‘ﬁ
QEdT—
(A) =&
(B) =
(C) smfkafia w&h
(D) g & S =
31 The inner layer of the seed coat is called:
(A) Testa (B) Tegmen
(C) Hilum (D) Mesocarp
Siefreer & Hiad e B w wey &7
(A) e B) = 37
(C) if¥rent (D) T=HEr
32 The cell wall of fungi is composed of:
(A) Cellulose (B) Silica
(C) Chitin (D) Pectin
el B Hifw i few § P B 22
(A) e B) R
(C) @i D) ea
33 The term Biodiversity was coined by:
(A) Chapman (B) Rosen
(C) Odum (D) Tansley
Safafiear st @ wfaia fear 3 | 38
(A) Juis B) ==
(©) si=H (D) e
34 Double fertilization and triple fusion is a
unique feature of:
(A) Gymnosperms (B) Angiosperms
(C) Algae (D) Bryophytes
faf e ue P g arey et 2 fysiwar 2 7
(A) srmgadt  (B) smgadnh
(C) S (D) sEiEzE
3541 < Page 6 of 16

35 Mushrooms belong to which class of fungi?

(A) Ascomycetes

(B) Phycomycetes

(C) Deuteromycetes

(D) Basidiomycetes

SHTIAT [ G, aﬁaﬁ%maﬁﬁm&mﬁ%?
(A) TR

(B) wEHEERES

(©) TAEREw

(D) REFERES

The outermost whorl of a flower is:
(A) Gynoecium (B) Androecium

(C) Calyx (D) Corolla
I9 H q99 SR Gh &
(A) smam (B) gHT

(C) smzgs (D) @gw

The breakdown of Glucose to Pyruvic acid
in respiration is called:

(A) Pyrolysis

(B) Glycolysis

(C) Glucogenesis

(D) Pyrogenesis

9G9I § TR BT UEEH ot H ferge
HEAT &

(A) TERiETERE

(B) s

(©) TgHeHEE

(D) U

Which of the following root modification
helps in respiration?

(A) Stilt Root

(B) Prop Root

(C) Pneumatophores

(D) Velamen

Frafefes & & &9 @ qw weio, gqaa &
s &7

(A) ot Hw

(B) w21 ga

(©) =pEwiT

(D) faem=

[ Contd...

3

Which of the following is a heterosporous | 43 Which of the following root system is found
Pteridophyte? in dicots?
(A) Selaginella Egg ?brc;:s ltlcéot tSystem
‘ ap Root System
® Lyf:opodlum (C) Adventitious Root System
(C) Psilotum
(D) Equisetum (D) Storage Root System
; Frfafed & & @ @1 gorcs fadiosh gred §
Frefafas & & &9 @1 ue fumdomyg T
gz &7 (A) s@s1 g =
(A) Faifsre (B) H&em q&@ @
(B) wmEediiEad (C). st 7w
(C) wrgwieH (D) ®wEwW q@ o
D) saERd .
2 44 Cuticle is absent in
40 The meristem which occurs between mature E‘é‘; E::? g)) 11‘323:
tissues in plants is called Wﬁﬁﬁﬂﬁﬂﬁmm%?
meristem. =
’ : A) T
(A) Intercalary (B) Apicak EC; o g)) Egr
(C) Lateral (D) Secondary
TE Afew ("*’F‘T'“f'ﬁﬁ) S Ty ST & 4 45 The movement of a molecule across a
BT ®, 3W AREH @ed 2 membrane, independent of other molecules
(A) siqdsh (B) sfifza 1(; ;:allsed (B) s
EGIRED ymport 1po
(G o) (C) Uniport (D) Inportqﬁ =
41 The seeds of cereals contaJP a large shield s zs}qr( NN
shaped cotyledon known as: e & i SF e
(A) Capitulum (B) Aril : :
(C) Scutellum (D) ‘Coleoptile | 28 Rt g)) qi';'f
AT % S A YT S AT SR S it
S & 46 The place where clearest image is formed in
(A) Hitgem (B) @i the eye and sensory cells especially cone cells
(C) e (D) vipEE are present in maximum numbers. This is
' called
42 Which of the following is NOT a (A) glllllld Spsotot
macronutrients? B) S D
(C) Ciliary body
(A) Phosphorous (D) Iris
(=) seligive wmmmmﬁmmuﬁfﬁw
(€) Potassium T ¥ U ey @8 s fadvet vg
(12, liom mmaaﬁhmmﬁqﬁm%luz
ﬁﬂﬁmﬁémmwwmﬂﬁ%? e ® :
(A) ®EHE (A) g fag
(B) ®wHT B) ¥q fag e
(C)  drfimm (C) 9™ &
(D) wE (3maT) (D) dRafXT ,
3541 DX Page 7 of 16 [ Contd...




47 The central part of thick filament which is | 50 Out of the following which is not found in
not overldpped by thin filament is called rivers?
A) ‘M’ (B) ‘H’ zone (A) Arthropods
(C) “Z’ zene (D) ‘L’ zone gg; I?/lr:lsl?sc:sans
qﬁ agan amé'”;ﬂ S g Seresie (D) Echinodermates
s o e 5
(A) ‘M’§ ®) ‘H &= xwmmmawwm%.
© 7 & @) L & ®) wREw
y i i (C) Hw=d
48 The impure l?lood from heart wall is carried D) eRATRE
into right atrium by !
(A) Corgpary vein and Coronary sinus 51 The examples of fresh water edible fishes
(B) Pulmenary trunk are
(C) Pulmdnary veins (1) Common Carp and Katla
(D) Pulhonary arteries and Coronary sinus (2) Rohu
wa & I W B R T T s (3) Hilsa and Sardine
TN gl:ooz:?.lhﬁeeéonect opti
A) FRA R SR T e L
acal ' el o @ Mand @ (B) @ and ()
x . (©) 3)and @) (D) (1) and (4)
(C) pvpy Rrmd 3 FAIUE 9§ UC T 9 @ ag auhEt &
(D) FUPH Tl T BRI T SareR &
) (1) =T &Y G Sl
49 The follawing statements are about 2 T
muscles < @) fewm 7 @
(1) Thetﬁlght bands contain actin (4) umbe
(2) Thedight bands are called anisotropic 8 faew &t g
ban@r' i ;
- = A) )= 2 B) T @A)
(3) Th k bands contain myosin - i :
(4) Actin filaments are thick filaments O Q‘q’ ) @) W 5L
Which statements or combination of | 53 Tp | hi
statements defines the properties of muscle? ge:esr,’ ﬁgl&:ulzlxle;it:;ofzztfﬁ ie(r?ﬂ
(A) (1) and (2) (B) (1) and (3) constant was given by
(C) (2) and (4) (D) (3) and (4) (A) Sewall Wright
FrafaRaacamea ast & fo (B) Hardy Weinberg
(1) &wh¥E & ufered & (C) Thomas Malthus
(2) s & v 2 de e o (D) De Tamarck
(3) TR ¥ A f Regla forest sff @21 (g ot wom ¥ ofry =
(4) ey W g A ¥ o 2 Pimed) 1 sren # gt i 8,
Sﬁﬁﬁwgamﬁ&ﬁmmmm%gvﬁ ) e ety
LS (B) #1éf Fmat g
@A) ()R (B) (1) TF(3) (C) 4tag wiead
©) @) uw @) D) B)wd @ (D) = @9 BT
3541 D Page 8 of 16 [ Contd...

53

54

The inner layer of Bowman's capsule tontains
specific type fo cells known as g

(A) Fenestra (B) Pyramid':;
(C) Calyx | (D) Podocytes .
AT g 3 e T s e ) B
e e ¥, R we ¥ N
(A) ¥ ®) fife
(C) *fvaa (D) drerEEgE

o)}

Disease in which balance of sodium and
potassium is disturbed and is cé?lsed by
excess of aldosterone

(A) Cushing's disease
(B) Addison's disease

1202407

(C)' Conn's disease
(D) Hirsutism

7 e Hifeaw @ dRREE & dged R s

56 Portal triad in liver is made of

(A) Sinusoids, hepatic lobules and kupﬁ'er
cells

(B) Hepatocytes, sinusoids and* hepatlc
. artery

(C) Hepatic artery, hepatic portal vem and
branches of bile duct

(D) Hepatic portal vein, sinusoids and
hepatic artery - / ‘

aga # Prafear e a1 g ¥

(A) »rfEr aga afwmet g W
HIRTHA F

(B) =pa iy, HrfErl T aga o i &

- (C) Tga wh, aga Prafer R o i e

H gmars A )

(D) aga frefEar fim, aﬂzﬂm'ﬁw
g |

. |
'

¥ TUT 9% TRIRIT BN Aahdr ¥ W AT 57 Hammer shaped ear ossicle is
(A) iR A S (A) Stapes (B) Incus
(C) Malleus (D) Vestibule
B) @A &1 AT = ; .

2 % i & TR & AHR B B ARYHT ¥
(©) &= I gt :
D) fecgfie N (A) =i (B) 9 -

' &~ (C) e (D) W

|
55  Pyrimidines which are found in nucleic acids 58 Connectmg Ik Detween chtrdntes an dnons
(A) Cytosine, Uracil and Thymine chordates is
(B) Adenine, Cytosine and Thymine A) vPenpatps
(C) Guanine, Cytosine and Thyniife (B) Neoplina
(D) Adenine, Guanine and Thyntine _(€) Balanoglossus
el S af onelt & i & ¥ & gﬂmhyg‘“s“s e,
(A) wrEAfed, few a aEe g > TAT AT-HEL
(B) wEAH, "R @ g ﬁ (B)ﬁii
(C) T+, TR T gFHA (©) e |
(D) A, I q A (D) >ereiaa
354) D4 Page 9 of 16 [ Contd..




59 The spermatids are transformed into sperms

60

61

3541 DK

by the process called

(A) Spermiation

(B) Spermiogenesis

(C) Spermatogenesis

(D) Spermatogonia

T TN Elby WH 91 &, 39 Tihat &t

@Ed €

(A) wffTss

(B) wifaisrfme
(C) wHeeHfTE
©) e

Who gave theory of Natural selection?
(A) Charles Darwin

(B) De Lamarck

(C) Weismann

(D) Wallace ]

Wipfres X1 fogia fepes wicuiiea fear &7
(A) A =i

(B) = v

(C)

(D) awE

Which of the following compound is called
inorganic benzene?

(A) Borax

(B). Graphite

(C) Borazine

(D) Pyridine

= & ¥ B a1 A, sedte a=iE
HEAT & ?

(A) T

(B) Iz -

(C) IR

(D) fifEm

62 Which of the following types of defects

63

64

Page 10 of 16

are found in AgCI?

(A) Frenkel defect involving cations
(B) Frenkel defect involving anions
(C) Schottky defect

(D) Interstitial defect

AgCl & f & § @ & &R & Jfear a
S 27 :
(A) e I ed g7m= &

B) ¥ I FEd Fom &

(C) sz e

(D) SRt I

Glass is soluble in -
(A) HFE

(B) H,S0,

(C) HCIO,

(D) Aquaregia
THE geEsi & -
(A) HF &

(B)- H,S0, &

(C) HCIO, %

(D) oret §

If P® and P are the vapour pressures of a
solvent and its solution respectively, and Ny
and N, are the mole fractions of the solvent
and solute respectively, then

afe P° ofiT P spmst: femass i sa faeras %
aT 2@ & $T N, ot N, masr: Ramaes it
foea % dieyars %, ag

(A) P=P°N,
®B) P=PoN,
(©) PP=PN,
D) P°—P =N,

[ Contd...
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The total pressure exerted by a number of
non-reactive gases is equal to the sum of
their partial pressure. The law is known as:
(A) Boyle's law

(B) Charle's law

(C) Avogadro's law

(D) Dalton's law

T fRar 1 & Al |t & g & g 7|,

e NEl & ifiteh qEt % AT &% IUET BT B

ge fram -

(A) sraa @& FE|
(B) = @1 fraw
(C) varsr & e
(D) sw=A &1 |

The pH of a solution is increased from 3 to
6. Its H* ion concentration will be-

(A) increased by 100 times

(B) doubled

(C) reduced by 1000 times

(D) increased by 1000 times -

% fq@es & pH &1 A 3 § g1 6 & ST &

zE% [H ] omad @ arsar ari—

(A) 100 1 5% SRR
(B) <A & s

(C) 1000 7T w2 S
(D) 1000 7T S SR

‘For a reaction mA+ny,B=mC +m,D,

Ax=(ml +m2)—(nl +n2)_
The unit of K is
(A) (litre/mol) A%
(B) (mol/litre) &%

(C) (mol)™
(D) Unitless

atufwar mA+n,B=mC +'m2D % fag
Ax = (my +my ) =(m +ny) |

K @ 388 & }

(4) (e s =) A

(B) (et wfr firex) A

(C) (diw)
(D) HTEEReN

68

69

70

71
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Predict the product of the following reaction-

Fraffiaa sffrar &1 some st &

: 1. Oy
O e e

(A) CH;CHO
(B) H,C=CH,
(©) HC—CH

The H* jon concentration in an aqueous
solution is 2x10~4 M. The value of pH of
this solution is-

% FdrE fgead & HY amEa &1 ar=san
2x104 M ¥ 3§ fawa= & pH &1 91 ¥—
(A) 3.7 ®) 3.3

© 4.7 (D) 43

The correct order of solubility of the sulphates
of alkaline earth metals in water is-

A YT G1geil & dehel o 9| A faerdar o
TE B - -

(A) Be > Ca>Mg>Ba>Sr

(B) Mg > Be > Ba> Ca> Sr

(C) Be> Mg > Ca> Sr> Ba

(D) Mg > Ca> Ba>Be> Sr

As we move away from the nucleus, the
energy of the orbit-

(A) decreases

(B) increases

(C) remains unchanged

(D) vanishes

S Y T S R A E, A B B Gt
(A) w= ¥ '

(B) & ¥ .

(C) emftafiq & &

(D) = & ¥ ¥

il Qontd...




72 Identify the simplest alkane - 3
(A) Methane (B) Methene
(C) Ethane (D) Etherle]

FIATH Tl 51 B — <
(A) frm ®) RfE
(©) = D) s N

—

73 Which compound isa tertiary amine?
frrafafea & & &1 Afe Q?ﬁ'ﬂg ST &7
(A) CH; —CH, —NH, <

o

. h

(B) CH; — |CH —NH, o

C <L

H3 o4

B o

o~

(C) (H3C); — NH =
(D) H3C — TI‘I — CH3
CH, CH;

o

, <

74 An ideal gas initially at 300 Ks heated so
that its final temperature is 6a0 K and the
final volume is twice the initialvolume. The
final pressure is = the initial
pressure. ™~
(A) twice s
(B) half
(C) same as
(D) 1.5 times (o)}

T ¥ Us amast g @ 300 K urant fRear s

& a8 e ot qEE 600K it sifim

S Tifieh a1 AT ST &1 sifs
; <

TE Uit a9 6I/% —N§|

(A) g S\J

(B) aen =

(C) gaH

(D) 1.5 T

354] <]

75  Which of the following statements is correct

76

77
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for an ideal gas?

dH

S T

] is negative
T

dH)| .
— 1S Zero
® |37 ]P

T] >
(C) |==| 18 zero
H

(D) 91] iS zero
dHJp

e st g % fg PR & & B T Be
qET? '

(A) %]T EiCR
E] |
®) aT ) TH
dT
(©) EJH I Fl
) ﬂ]. = 31
dHp

Which of the coordination numbers is not
possible for ionic solid?

AAHH W % fod, @ @ guaa g 9vd
T E? i ‘

(A) 4 B) 5

© 6 (D) 8

There are no S-S bond in-

(A) 8,02~ B) $,0%
(©) 8,03 (D) §,02
T A S-S A 1o

®) 807 % (@) 5,02 %
© 8,077 () szbi‘ #

78 Boyle's law may be expressed in the form of | 82 Which among thé following doesn't exhibit
atae 1w g8 w9 F e fhar e - geometrical isomerism?
R4 (A) FHexene (B) 2-Hexene
&) (W)T LA (© —@exene (D) 4-Hexene :
ap Frafafaa ¥ a1 a1 sofcfa gamEgaa vefifa
® (), =-x/v’ g b7
dp (A) K (B) 2-%fem
(©) (W)T e I © RRfe (D) 4
v/t : . (A) CsCl - type structure
79 Which pair of the following statements is (B) Zfls - type structure
correct? : () SIC - type structure
(1) Surface tension "decreases when (D) NaCl - type structure
: temperature 1ncreases. MgO o - -
- (2) Surface tension decreases when a) el - & o
temperature decreases. ABIT E_ (il
*(3) Surface tension is maximum at the (B) ZaS - ¥HR B FT&
critical temperature. © gc - YBR @ G
(4) Surface tension vanishes at the critical (D) NaCl - ¥&T @ g
. temperature. ; o
B) (2 NE) 2 x -l
gé; 8; xg 8; ng 543 ng 8 84 Which of the following is not a Lewis acid?
frrafafaa ®at & § @ &1 e qer 87 = & ¥ B a1 939 o TE &7
(1) W9 99 9eaT & Y5 T HH B 2 (A) BCly (B) SnCl,
(2) 9 99 "l ¥ YSS q919 "edm &1 (©) BeCl (D) NCly
(3) wif<a AU UX USS dAIG SAIchan BT ¢ -
(4) HITH T TGS T @A & S | g5 Formbiton of ammonia from nitrogen and
@) (@) T () B) (2) T (@) hydrogen is accompanied by the evolution
©) @) Q) @) @) T (@) of heat: Increase of temperature -
80 Which of the following gases has the highest (A) fatilitates the formation of ammonia.
g::fs%«]?éadiﬁﬁ-;‘fsgn; N . " (B) gcreases the value of the equilibrium
a‘(’ v
iy T 7 constant.
3 . (C) increases the value of the equilibrium
(&) 0, ®) N,0 el
(C). €0, Ores D) facﬂitate;s ammonia formation, but does
81 The vapour pressure of a liquid depends - ~ got affect the equilibrium constant.
(A) on temperature, but not on volume ook AR Fofor &
(B) on volume, but not on temperature Wﬂ@ﬁﬁﬁ y & # ST
(C) on both temperature and volume | 9 &l ST —
(D) neither on temperature nor on volume. (A) emitr & fmfor & wems ¥
79 T T < i § - B) i Rertis % T B & Be R
(A) T 9T S a"”“'“g (C) gra Redis % 9 & Tem ¥
B i o Y (D) ST 3 frator ¥ o & e A
(C) d™ X e I UT _- 3 N
(D) 7 & aW W R 7 & AT W B AN & B ¥l
3541 < ' Page 13 of 16 [ Contd...




86

87

89 Which among the following statements Frafafaad § 9 &9 91 StedSH, | qon
" defines 'Meso' form of isomers? AR ddl B AT ﬁvm@,ﬁ zm e w9 & °? :
(A) Meso form is optically inactive due to (A) O<F<N
external compensation. B) N<F<O
(B) It can be separated into optically active (C) O<KN<F
pair of isomers. D) F<O<N
(C) The molecules of meso isomers are
chiral. 93 What type of lens is found in the human
(D) It is a single compound. eye?
Preafife ¥ & B9 @ 7o AEr gEEEE @ (OF Convex
T BT ¥ ? (B) Concave
(A) 5wt swre: P 8wt s | ) aular lens
(D) Bifocal
afirre Er | uHg 99 & f6E YB @1 @ %7
(B) U WabI9id: |ishd HEGAd A fowifoa fpar (A) wa@ el e B
ST g §1 (B) orama
(C) T\ dftre sreafm 2 & (©) W?:Tﬂ
3541 DK< Page 14 of 16 [ Contd...

The orbitals which have same number of
radial nodes are-

Y He R By Ay B §9F TE ¢, 98 §
(A) 2s, 2p B) 3p, 3d

(C) 2s,3p (D) 3s, 4d

Which of the following does not act as buffer
solution?

(A) Na,HPO, and KH,PO,

(B) NH,CI and NH,OH

(C) CO, and HCO;

(D) HCI and NH,Cl1

P § @ @9 @1 T faeee & w9 F S TR
HTar ¥7

(A) Na,HPO, &t KH,PO,4

(B) NH,CI 3k NH,OH

(C) CO, 3R HCO;

(D) HCI ik NH,CI

Which of the following is planar?
fra & @ @9 w1 wwawE §7

(A) XeOyF, (B) XeF,
(C) XeO, (D) XeOsF

920

91

92

If T is the surface tension of the soap solution,
the amount of work done in blowing a soap
bubble from diameter D to a diameter 2D is
ot T WA % Rieas & g o ¢ & 99T &
g & =W D ¥ 2D H ¥ AT Ty HR @
AT R

A) 2nD2T
(©) 6rD?T

(B) 4rD’T
(D) 8aD’T

Identify the Endocrine gland that is ‘H-shaped
and is situated near neck region.

(A) Thyroid gland

(B) Pituitary gland

(C) Adrenal gland

(D) Pineal gland

a‘z"ﬂqﬁaﬁa:w@mﬁz%a‘rH—%mﬁz‘r&‘ .

¥ qar Fr & & SuRad e ¥
(A) amrEs Ut

- (B) fgy i

(C) ifges A
(D) e U

Which of the following is the correct order

of the atomic radii of the elements oxygen,
fluorine and nitrogen?

94

95

- 96

97

3541 DK

Which isotope is used in the nuclear/power
plants to generate electricity?

(A) Uranium 235 (B) Iodine 131

(C) Cobalt 60 (D) Uranium 238
AHDE STt @O § frga s wor & fg
foo gty &1 sugm fear smar ¥ 2

(A) g 235 (B) emarEH 131

(C) @ 60 (D) Fifrmm 238

Given below is the list of secretions of glands.
Insulin, Glucagon, Saliva, Calcitonin,
Earwax, Milk, Sweat

How many of the above are secretions of
‘exocrine glands? ‘
(A) Two

(C) Five

" (B) Three
(D) Four

=i fou g gl sfuEr g wfed garEt b A |

feg @ ¥

'mﬂﬁﬂ"’ TRTT, 4%, i, BT, I8,

IURxh ° fehan SfeE Ui | . gard ¥?
(A) = B) 9=
(C) dra D) =R

Which of the following is used as fuel to
obtain Nuclear Energy?

(A) Cadmium (B) Chromium .

(C) Uranium (D) Aluminium

P & § @ |1 T T STl AT BT B
$oe B dXe WG BT § 7

(A) HshEH B) wmiftEd

(©) zfa (D) uwghitE

Optical fiber works on the principle of

diffraction

interference

(C) total internal reflection

(D) refraction 4

WepTiiTeh g T Raia oX @ FT &
(A) faads

(B) =faerer

(C) gt el wXmEe

(D) @A

A)
(B)

98

99

Rusting of an/article made up of an iron is
called -

(A) corrosion and it is a physical as well as
chemical change ‘

dissolution and it is a physical change
corrosion and it is a chemical change

(B)
©)
(D) dissolution and it is a chemical change
e | I g% UT S A BEA & —
(A) Hmmm@ﬂmamwmﬁm
e ¥
(B) fqued o 7% s i uftady &
(C) H&Rr oY 9% U UEED Uiads &
(D) foEes X 9% s THEEMS UiEdd &

- Pons and Medulla are parts of a:

(A) Male reproductive system

(B) Leaf

(C) Brain P
(D) Flower

U J S fhEd WETE 2

' (A) X USHA o

100
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(B) ufwat
(C) =fiass
(D) g9

Which of the followmg constltute a food
chain?

'(A) Fruit > seed — ﬂower

(B) Grass > Goat — Human

(C) Bamboo — Elephant — Deer

(D) Fish — Goat — LlOIl
ﬁwﬁ%aﬁwwmmﬁﬁwm%?
(A) & - 9 > T (W)

B) T8 — FHA — TEA

(C) s\ — =zt — fexm

(D) #Bsl — FTHA — AT
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